Methyl Acetate
Response Ratio

0.35+

Amount Ratio

R = 3.71e-002 A*A + 8.39e-002 A + 2.47e-002
Coef of Det (r"2) = 0.992 Curve Fit: Quadratic

Method Name: Z:\VOASRV\HPCHEM1\MSVOA_F\METHODS\82F030419S_M
Calibration Table Last Updated: Tue Mar 05 04:50:44 2019




Methylene Chloride

Response Ratio

Amount Ratio

Resp Ratio = 3.79e-001 * Amt + 4.46e-002
Coef of Det (r"2) = 0.994 Curve Fit: Linear

Method Name: Z:\VOASRV\HPCHEM1\MSVOA_F\METHODS\82F030419S_M
Calibration Table Last Updated: Tue Mar 05 04:50:44 2019




1,2-Dibromo-3-Chloropropane
Response Ratio

0.22+

0.16+

0.14+

0.12+

0.08—

0.06—

Amount Ratio

Resp Ratio = 1.07e-001 * Amt - 8.10e-003
Coef of Det (r™2) = 0.993 Curve Fit: Linear

Method Name: Z:\VOASRV\HPCHEM1\MSVOA_F\METHODS\82F030419S_M
Calibration Table Last Updated: Tue Mar 05 04:50:44 2019




